
Main list

Power supply Assembly

Front Controls & indicators

Pedestal Foot-stand Assembly

2.5" Drive Bay Assembly

Fan Assembly

5.25" Drive Bay Assembly

Accessory List

S-917 USER MENU

Part Description Part No. Q'ty

M3 Screw Round head H=4mm

6#32 Screw Hex head H=6mm

M3 Screw flat head H=4mm

32

6

4

12cm Fan

Filter 163X18X5

Panel

PSII type power
or Mini Redundant PSU

USB Port
Front control & Indicators

12cm Fan

Side Plate Left

5.25" ODD x7

internal 2.5" HDDITX board

Power switch
System power LED

USB port
Reset Switch

H.D.D LED

6#32 Screws hex head H=6mm

Plastic Stand

T5 Screws flat head H=10.5mm

2.5" HDD

M3 Screws flat head H=4mm

Fan Filter Assembly

PSII power

6#32 Screws hex head H=6mm 6#32 Screws hex head H=6mm

6#32 Screws hex head H=6mm

Mini Redundant PSU

POWER BRKT

M3 Screws flat head H=4mm

525 Cover

5.25" ODD x7

M3 Screws round head H=4mm


